FITMENT
INSTRUCTIONS

TOYOTA TACOMA GEN2&3 SB & LB
CANOPY CAMPER

All rights reserved. No part of this document may be reproduced, translated, stored in a retrieval system, or transmitted, in any form or by any means, electronic,
mechanical, photocopying, recording or otherwise, without prior written permission of the owner.

Review all instructions information carefully before installation.

Any damages, direct or incidental to the installer and/or property due to incorrect installation of any parts are the responsibility of the installer. Due to the
various applications and fitment options available, the responsibility lies with the user to ensure all mounting points are secure and tight before every trip. If
unsure, consult with your Distributor regarding the operations of our products.

Users are advised to be mindful of the load they are carrying and drive in accordance with road conditions.

DISCLAIMER




1.Rear filler panel assembly for (GEN2 SB,LB & GEN 3 SB,LB)

162-TAC-RER-FILLER-KIT-ASSY-01-00

W

Always wear appropriate PPE ( Personal protection equipment) when fitting this product.
Although the mounting kit is designed to be DIY, if you have any doubts or concerns, contact an

accredited fitment centre to carry out the work. Alu-Cab will not be liable for any injury to persons,
and/or damage to products and/or vehicles.




1. Fit lower door frame to filler panel assembly as shown.




2. Image below indicates the mounting points for rear filler
panel assembly.

2.1 Point C needs to be drilled through plastic liner to match
up with existing hole in load bin.




3. Mount filler panel assembly to load bin as shown.




3.1. Then mount canopy camper base unit on top of load bin.




4. Connect rear filler panel assembly and base unit as shown.

OUTER MOUNTING ON BOTH JOINTS

INNER MOUNTING ON BOTH JOINTS




6.Fit rear door rebate with @4.8 x15 sealed countersink rivets
as shown.

REAR DOOR
REBATE

COUNTERSINK

SEALED RIVETS REAR DOOR

RUBBER SEAL




5. Fit rear door by mounting 4 x Butt hinges to camper frame
as shown. Centre rear door, top to bottom and the hinge
centres left to right. Also mount the door lock to the camper

frame.

REAR DOOR SUPPLIED _
FITTED WITH DOOR LOCK AND HINGES'-\




6. Attach hinges and lock to camper frame.

BOLT HINGES TO
CAMFPER FRAME

BOLTDOORLOCE
BRACKET TO FRAME

10



7. Fitting of front filler panels for GEN 2& 3 LB Tacoma'’s.

7.1 Front filler panel assembly.

Sheetl

5 4 3 2 1
TEM NO. PART NUMBER DESCRIPTION MATERIAL arv. | 9%y
1 162-TAC-SID-FILL-PNL-LH-01-01 SIDE FILLER PANEL 1060 Alloy (2mm) 1
2 162-TAC-SID-FILL-PNL-RH-01-00 SIDE FILLER PANEL RH 1040 Alloy (2mm) 1
3 162-TAC-BOT-FILL-PLT-01-01 BOTTOM FILLER PLATE 1060 Alloy (2mm) 1
1SO 7380 M8x20 Button Head Hex Button Head Hex Socket
4 Socket Screw Screw AlSI 316 6
5 M8 Nut Cap Plastic Nut Cap PE L°|5gr$g$y"”m 14
6 1SO 7040 M8 Nyloc Nut Nyloc Nut AlSI 316 14
7 ASS4815 Rivet Blind Rivet AL5052 9
8 DIN 125A M8 Flat Washer Flat Washer AlSI 316 16
9 DIN 9021 M8x24 Flat Washer M8x24 Flat Washer AlSI 316 4
10 DIN 933 M8x20 Hex Head Bolt Hex Head Bolt AlSI 316 8
NAME DATE PROJECT:
RAWN M 1érovi0m CANOPY CAMPER DC TAC
CHD  AGF s mz & CHEV
#m,  AGF  osmz7 DESCRIPTION:
iess oneswise meares: | |AC FRONT COMPONENT ASSEMBLY
SreNSIONS A€ TN MLLMETERS
BRAWING.No. RV
4 Seadfcod ALLTECHNICALA VISUAL | 0% 09025001 707 162-TAC-FNT-FILLERKT-ASSY-01-00
OHtery East.7800, DATA REMAINS THE FINISH: Coicn
Cape Town, South Atica PROPERTY OF A3 urernaL:
queriesBalu-cab.coza  ALU-CAB CC & MUST BE PROJECTION:
Tek: +27 21703 3028 RETURNED UPON AR e —
Fax: +27 21703 9510 REQUEST Rt 1:20 | 243675 TOF 1
5 4 3 2 1

11



7.1 (b) Fitting of front filler panels for GEN 2 & 3 SB Tacoma’s.

Sheetl

S 4 3 2
QC
ITEM NO. PART NUMBER DESCRIPTION MATERIAL ar: | o9
1 TE2TAC BOLALLATOT- BOTTOM FILLER PLATE 1060 Alloy (2mm) 1
162-XC-TAC-SID-FILL-
2 XEora SIDE FILLER PANEL LH 1060 Alloy (2mm) 1
T62-XC-TAC-SIDFILL-
3 N RIor01 SIDE FILLER PANEL RH 1060 Alloy (2mm) 1
4 ASS4815 Rivet Biind Rivel ALS052 5
DIN 9021 M8x24 Fiat
5 oL M M8x24 Flot Washer AlS1316 12
6 50 7040 M8 Nyloc Nut Nyloc Nut ASI316 6
7 (30 7380 MBxa0 Button | Button Head Hex Socket Screw AlSI 316 6
M8 Nut Cap Plastic Nut Cap PE L%“é/n"gfydi”m 6
9 DIN 934 M8 Hex Nut Hex Heod Nut AlSI316 3
1SO 7380 M8x16 Butfon
10 HeodSHex Socket Button Head Hex Socket Screw AlSI 316 8
crew
DIN 1258 M8 Sprin 3
n Washer: Compiasad M8 Spring Washer AISI316 8
DIN 125A M8 Flat
12 Washer Flat Washer AlSI 316 8

NAME DATE PROJECT:
RAWN M 21novi0s CANOPY CAMPER XC TAC
CHKD | AGF 082017
R, AGF  tsmzi7

DESCRIPTION:
ess onenwise sears 1 AC FRONT COMPONENT ASSEMBLY

DIMENSIONS AGE IN MILLIMETERS

4 Read Road, 00,5 0,0:0.25 0,000,1 0"=0.5" oA e

e X ALL TECHNICAL & VISUAL i

162-XC-TAC-FNT-FILLER-KIT-ASSY-01 00
Oftery East, 7800, DATA REMAINS THE FINISHE p
Cape Town, South Atica PROPERTY OF A3 ateRzAL:
queries@alu-cab.co.za  ALU-CABCC & MUST BE PROJECTION:
Tel: +27 21 703 3028 RETURNED UPON e e oy
Fax: +27 21703 9510 REQUEST o et 1:10 2648.71 1OF 1
5 4 ] 2 1

12



7.2 Bolt side panels to frame of camper and onto the Reinforcement bracket as
shown.

7.3 Rivet bottom filler panel on to bottom frame member using @4.8x15 sealed rivets

7.4 All fasteners supplied.

13



8. For the long bed Tacoma filler panels, holes need to be drilled into roof and
bolted from the inside as there is no reinforcement bracket used on the long bed.

8.3 Lastly, seal all joints with Sika flex or similar.

14



Tacoma GEN 2 - Front Sealing Setup

FRONT SEALING
PLATE

DRILL & RIVET INTO
SPACER FRAME

(USE SIKAFLEX TO
SEAL THE
CONNECTION)

SPACER FRAME

USE SUPPLIED D-RUBBER
TO SEAL THIS PLATE TO

THE RECESSED LOD BIN
LIP

15



FRONT SEALING PLATE

zl 25051V 1N puIlg 1oAY S18YSY z
00-10
L (wuig) Aoliv 0901 T3S INO¥ AVIS-INI-SL0Z-95-262 L
V_WM%U "ALD IVINALYW NOWJROS$Ia SIGNON L3V “ON WLl

610Z 1990420 €0

aanoIs
alva

ANLOVINNVW 304 a3svIay

16



Spacer frame for (GEN2 SB)

17

=3 7 = = = z
RELEASED FOR MANUFACTURE
ITEM NO. TY. DESCRIPTION LENGTH HECK
DATE 09 September 2019 3 2 Dw mﬁwm = M-u e CHEC
IGNED oad Bar
2 1 Std Load Bar 1640
3 1 Std Load Bar 1600
4 1 Std Load Bar 1640
- L o (NAST DATE PROECR TAC 2G DC CANOPY
Yo @ay® “o : CAMPER
B g 15 AR, DESCRIPTION:
UNLESS OTMERWISE SRECTPIED: FILLER PIECE FRAME
OIMENSIONS ARE IN MILLIMETERS
SIZE DRAWING No. REV
4 Aadd koad ALLTECHNICAL& VISUAL  ©%0% 0= atosal or=ast 162-TAC-2G-DC-FILLER-FRA-O1
Offery East,7800, DATA REMAINS THE FINISK [ i
Cape Town, South Aldca PROPERTY OF >u MATERIAL:
queriesalu-cab.coza ALU-CAB CC & MUST BE PROJECTION: 6063-T6
Sheetl Tel: +27 21 703 3028 RETURNED UPON Bi— SCALE: WELEHT: SHEET:
Fox-+27 21 703 9510 REQUEST 110 9R5423 1OF 2




Space frame 3 GEN2 LB

[ RELICAJLD TUNR WIRIWUTACTURE

DATE 09 September 2019
BIGNED

Sheetl

TEM NO. QrY. DESCRIPTION LENGTH | QC CHECK
1 2 Std Load Bor 97
2 1 Std Load Bar 1967
3 1 Std Load Bar 1600
4 1 Std Load Bor 1967

NAME DATE |PROJECT:
,. YT R T TAC 2G XC CANOPY

v Ooe@a® oo CAMPER
< e 173 DESCRIPTION:
UNLESS OTHERWISE SECTTED: FILLER FRAME XC

OIMENZONS A IN MILLIMITERS

SIZE DRAWING,No. REV
e ALL TCHMCAL & IAL. | [ 162-TAC-2G-XC-FILLERFRA-O1
Ottery Est,7800, DATA REMAINS THE FINISH
Cape Town, South Aica PROPERTY OF >u MATERIAL:
quedesdalu-cab.coza ALU-CAB CC & MUSTBE PROJECTION: 6063-Té
Tek +27 21 703 3028 SETURNED UrOM THRD ANGE SCALE: WEIGHT: SHEET:

Fax: +27 21 703 9510 REQUEST " 1:10 11223.48 10F2

18



TOYOTA TACOMA Canopy Camper Mounting
Brackets

Fitment Instructions

19



1. Toyota Tacoma Canopy Camper Mounting Brackets - Tools,

Fasteners & Materials

The tables below show the equipment, l.e tools, fasteners, hardware and
consumables required to complete the fitment of the Toyota Tacoma Canopy
Camper.

Hardware supplied with the Toyota Tacoma Canopy Camper Mounting

Brackets:

ITEM

- PART NUMBER DESCRIPTION MATERIAL Qry.
1 |162-TT-CC-VERT-MNT-BRKT-01-01 VERTICAL MOUNTING AlSI 304 (3mm) 6

BRACKET

2 TT-NUT-PLT-01-00 NUT PLATE AlSI 304 (5mm) 6
3 483-080 SPRING WASHER - M8 AlSI 304 24
4 M8 Flat Washer M8 Flat Washer AlSI 316 24
5 M8 Nyloc Nut M8 Nyloc Nut AlSI 316 24
6 M8x30 Hex Head Bolt M8x30 HEX BOLT AlSI 316 12
7 M8x20 Hex Head Bolt M8x20 Hex Head Bolt AlSI 316 12
8 M8 Nut Cap Plastic Nut Cap PE Low/Medium Density | 24

1.1 Tools required to fit the Toyota Tacoma Canopy Camper Mounting
Brackets:

Tool

Purpose

13mm Spanner/Ratchet

Fastening Nuts and Bolts

20




2. Fitting the Canopy Camper Mounting Brackets

Step 1: Installing the Tacoma Mounting Brackets

Firstly we need to install our bottom half of the mounting Bracket to the Load Bin of our
Vehicle. This is illustrated below:

Figure 1: The above Plate with threaded holes is inserted into the below rail inside the Load
Bin

Figure 2: Rail inside the Load Bin

21



Figure 3: The above Plate is a spacer between the Load Bin Rail and Bracket, the gap
between the 2 Plates represents where the Rail would fit between

Figure 4: You will fasten through these holes with 2 Button Head Bolt, Flat Washers and
Spring Washers

22



Figure 5: Button Head Bolts with Flat Washers and Spring Washers

Step 2: Installing Top Half of the Tacoma Mounting Brackets

Figure 6: Insert Hex Bolt into the Side Nut Slot of the Canopy Camper Frame

Figure 7: Next we need to place the Hex Bolt in the Nut Slot and place a Flat Washer
afterwards. Fit nut caps to all bolt heads

23



Repeat the same process all around the camper, placing 3 brackets on each side .

Figure 8: All Mounting Brackets in their correct positioning

NB! The Canopy Camper must rest solely on the mounting brackets and no
load is allowed on the load bin. Once this is completed, the Canopy Camper
has been installed successfully and sealing can begin.

24



3. Sealing the Front Bulkhead Spacer

The Gen 3 models of the Tacoma have a front bulkhead spacer bracket is included as a
stock item. The mounting and fitment kit for the Gen 2 models comes with a front sealing
bracket which needs to be sealed as indicated below.

Fig 9: Gaps in Bulkhead Spacer

The bulkhead spacer bracket pictured above does not seal on to the load bin. To remedy
this butyl tape (3M window weld) can be used. The butyl tape is applied to the gaps
indicated above, apply it as a putty and ensure that a large amount is used to ensure the
best seal possible.

25



The finished Canopy Camper should look like figures 10 and 11 below.

Figure 10: Window Weld Applied o Inside of Load Bin

Figure 11: Window Weld Applied on Outside of Load Bin

ST Sl
Should you experience any problems, please contact us so that we can assist you. Enquiries: queries@alu-cab.co.za

Tel: +27 21 703 3028




